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+z: ESDITE
—y: PO oIy

(1) p.3, +3: (i) & (i) = (ii) & (iii)
(2) p6,+14: el = €My
(3) p.6, +15: Q) = O
(4) p.11, +2: —Fkk = [FIFEE
(5) p.27, +2fTORIZBM : 0 &2 2 SR WEE
BrzhthEZ5ZLIl2kD,
Cy D ELD O RERT .
(6) p.35, +13 (JHZAH):
ay (2, 2n) = ay (2, 20) =
a(z', zn) = a(?', 2,)
(7) p.37, =3: (2.2.6) DITHIAXT. ap---ao
& by - by A,
) D.AT, +4,46: 1 =1 (2 HFF)
) pAT, —=9: U\ Xy =UNX \ Xo
) p47, —5: C? =C"
) p49, +5: p = q (LfT )
12) p.50, +1: (A =(PA
) p.b3, +2: fiifd 2.4.9 = A 2.4.7 (ii)
) p-53, +4: Z' = %
)

K,

(16) p.84, +10: €' = e~

(17) p.85,42: C = €

(18) p.85, —1: C" = U

(19) p.87, +3: X = Q

(20) p.97, —11: [40] = [3]

(21) p.98, +2,-9 (25 Ff): (—1)* =
(-1)nt

(22) p.100, +5,46 (3 HFR): B1(2, z,) =
Bi(#',Q)

(23) p.100, —7: BY(Z', z,) = BY(Z,()

(24) p.100, —4: ,1} = ,51}

(25) p.101, +8,49 (3 HFR): Bry1(2,2n) =
Bt1(2',¢)

(26) p.112, +9: Z' = Z!

(27) p.113, +8: I'(Qy11, F) =
CUla,,,» )

v+1?

(28) p.115, —2: Ox» = Og .4
(29) p.116, +2: z® = coz®
(30) p.118, +7: Q(Q) = O(Q)
(31) p.118, —11: Q@ = @
(32) p.122, -3: G, L= P, I
(33) p.122, —1: |, = |p,
(34) p.124, +6: O, = Ogq
(35) p.146, +3: |f(w)[l*l = [f(w)|!*lr*
(36) p.147, —10: dpa(a;, 0Q) =

dpa(aj, 0Q) - PA
(37) p.148, +5: —HkT % = —HRINK T %
(38) p.151, +9: K % = K D%
(39) p.151, —6: Q = O
(40) p.152, K 5.6 #: & = &
(41) p.154, +9: KqU{z} = Kq, U{z}
Ju, fu
(42) =
(43)

p.160, —11: , = —=.0f
9U. 9u. ’

p 177, +1: i =1,2, »D = i =1,2,
UiNU; = 0 o
l

42

43

l
(44) p180, +10: () Ay = U 45,

j=1 j=1

(45) p.181, —7: (iv) & (vi) = EFK

(46) p.186, —1: R(a) = RJq]

(47) p.189, +5: B = X

(48) p.189, —6: 0 = 2/

(49) p.190, +10: Op 0(2p+1) = Opol2p+1]
(50) p.190, —2: fm v = fv

(51) p.195, +1: kb = 3k

(52) p.198, +13: 0 = 0

(53) p.199, —10: dim, X = dim X

(54) p.199, —10: dim, X; = dim, X
(55) p.202, —5: 6N =

(56) p.202, —5: Fy, = Fy,

(57) p.202, —4 ~ —2 (3 HF): Fy, = Fy
(58) p203, =5: > = Y

laj[<e; 0<a;<e;
(59) p.204, +13: §(2') = 5(2")N
(60) p.211, 4+2: XNX = X
(61) p.218, +17 (2 ZFI): X0 = X



(62) p.218, +17 (2 #1F): Ry = R

(63) p.220, —3: ™ = 7}

(64) p.227, +10: {z € X; S #0} =
{r e X; 7, #0}

(65) p.232, +15 (2 HFM): | = d’

(66) p.235, +2: Ox = Ox

(67) p.238, —13: non = mon

(68) p.247, —7: Ji = &

(69)

(70)

(71)

69) p.251, +4: €2 = %52
70) p.267, +7 (2% 77): (0) = (a)
71) p.269, —8: 2;}3{ - 5}3{2
(72) p.269, =7, —4: 82790(tz)zjz7k =
T 0z;0z
P
T 020z
(73) p.269, —6: 2ZTO0<t<1TH?. =
HIkR
(74) p.269, —6: (tz) = (0)
(75) p.269, —5: fFED t € [0,1] 1ICH LT =
HIIFR
(76) p.269, —2: m{ = 5}3{2

(77) p269, —2: 3 =+ >
ik ik

(78) p.270, +3: 27§}e{ N gce{2

(79) p.270, +6: > =2
j=1 j=1
(80) p.271, —1: j = N
(81) p.272, +2,+10 (2 ZFN): C|z|; =

C max ||,
1<j<N

(0)22k + o(]|2]1%)

= max
1<j<N

—XT

1
(82) p.272, 48: Haﬁ
@ a

J

(83) p.281, —12: |- [Ix = |- |l; (LIRAFD «
% HIBR)

(84) p.281, —12: —f% = [FAIFEME
(85) p.294, —1: Vi = QN
(86) p-295, +4: Uj = Uj nQ
(87) p.295, =3: ZY (%, 0q) =

ZY U D, 060))
(88) p.295, —2: H'(QW 0q) =
HY QM 060)
(89) p.295, —2: H' (%M, 0q) =
HY %™, 0q0)
(90) p.295, —1: (7.4.4) = (7.4.5)
(91) p.296, —5: V; — QNV;
(92) p.297, +1,+3 (24 FF): Vo NV5 =
Vo N Vg naQ
(93) p.297, +5: Qo — Ogq
(94) p.298, +2:
n 2
68:;(0)2]' 721; 353‘(;’;% (0)zj2z =

"0 0?

2; 8—;(0),2]' + 2 azjaik (0)z; 2k

(95) p.298, +5,+6 (2 HF): e§ = 52

(96) p.298, +6: A(0;6) = B(0;0)

(97) p.300, —11: §3%. = L, X I ZEHIEE
Szl 3 5.

(98) p.301, +10: FIWT = FW, F7-1%H
DOIDEM 7540 xEDE D &,

(99) p.301, +14: Q@ = X

(100) p.317, +15: g, = g;

(101) p.323, —7,—5,—4 (3 HFf): dOhy =
00 log hg

(102) p.329, +7: LK = Lk




